Recline Interface Support Frame Hardware
For 3G Storm & TDX SP/SP-GT

Center Seat frame is a
non-serviceable part

Recline Support Frame is a
non-serviceable part



Recline Interface Support Frame Hardware

For 3G Storm & TDX SP/SP-GT

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1144589-NLA | NLA - Kit, Recline Interface Support Frame 1 1
Hardware
2 Washer, Nylon (3/8 x 7/8 x 1/16") 1 4
3 NLA - Washer, Nylon (13/32 x 1 x 1/4") 1 2
4 Screw, Socket Head (3/8-16 x 2-1/4") 1 2
5 Washer, Nylon (3/8 x 13/16 x 1/16") 1 4
6 NLA - Locknut, High Profile (3/8-16) 1 4
7 Screw, Socket Head w/ Patch (3/8-16 x 1-1/2") 1 2

NOTE: A - Includes items 2-7




